Table	1. Annual Rep	orting Burde	n 2016-2018 (	CURRENT F	REQUEST)			Annua	Annual Reporting Burden in ROCIS (2014-2016)					BURDEN CHANGE				
Section	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	Cost @ \$268/hr		No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	No. of Respondents	Response per Respondent	Total No. of Responses	Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	
71.5(b)	0	(	0	100	0		71.5(b)	0	0	0	100	0	0	0	0	0	0	
71.7(b)	5	1	1 5	1	5	\$1,340	71.7(b)	5	1	5	1	5	0	0	0	0	0	
71.12	1	1	1 1	300		\$80,400		1	1	1	300	300				_		
71.17(c)(3)	25		1 25		25		71.17(c)(3)	40	1	40	1	40	(15)	0	()		( - /	
71.22(d)	Removed from	om clearance p	oackage (does	not contain	an information	collection)	71.22(d)		Incl	uded in 71.5			0	_	_	_	_	
71.23(d)	Removed from	om clearance p	oackage (does	not contain			71.23(d)	0			0		0			_		
71.31	25	1	1 25	300	7500	\$2,010,000	71.31	53	2	106	300	31800	(28)	(1)	(81)	0	(24,300)	
71.33							71.33						0	_		_		
71.35			Included in	71 21			71.35	Included in 71.21				0	0	0	0	0		
71.37(a), (b), & (c)	Included in 71.31							Included in 71.31					0	0	0	0	0	
71.38 (c)	25	2	2 50	80	4,000	\$1,072,000	71.38(c)	20		40	80	3,200	5	0	10	0	800	
71.39	36	2	2 72	110	7,920	\$2,122,560	71.39	36	4	148	110	16,300	0	(2)	(76)	0	(8,380)	
71.41(a)&(d)			Included in	71.31			71.41(a)&(d)		Inclu	ided in 71.31			0	0	0	0		
71.47(c)	Burden covered under Department of Transportation clearance #2137-0150 71.47(c)							den covered ur	nder Departmer	nt of Transport	tation cleara	nce #2137-03	0	0	0	0	0	
71.87 (f)	Included in 71.31 71.8								Inclu	uded in 71.31			0	0	0	0	0	
71.89		Move	d to third party	disclosure ta	able		71.89	25	4	100	0.17	17	(25)	(4)	(100)	(0)	(17)	
71.93(c)	1	1	1 1	1	1	\$268	71.93(c)	1	1	1	1	1	0	0	0	0		
71.95	25	,	1 25	24	600	#160 000	71.95(a),(b)	2	1	2	24	48	23	0			552	
71.95	25	1	25		600	\$160,800	71.95(c)	13	1	13	4	52	(13)	(1)	(13)	(4)	(52)	
71.97(a), (b), (c) & (d)	7	2	2 14	0.9	12.6	\$3,377	71.97(a), (b), (c) & (d)	1	1	1	0.9	0.9	6	1	13	0	12	
71.101 (c)	2	1	1 2	120	240		71.101 (c)	Included in 71.101 - 71.137				2	1					
71.101(f)	2	1	1 2	1	2		71.101(f)	2		2	1	2						
71.103-71.105						71.101-71.137	2	1	2	120	240	(2)	(1)	(2)	(120)	(240)		
71.106(a)	6	1	1 6	25	150	\$40,200	71.106(a)	6	1	6	25	150	0	0		\ /	· /	
71.106(b)	50	1	1 50		50		71.106(b)	125	1	125				0	(75)			
71.107-71.137						71.107-71.137		Included	in 71.101 - 71	.137		0	0		0	, ,		
Appendix A, II.(c)	0.1	1	0.1	20	2	\$536	Appendix A, II.(c)	0.1	1	0.1	20	2	0	0	0	0		
TOTAL			278.1		20807.6	\$5,576,437	TOTAL			592.3		52282.9	0	0	(314)	0	(31,475)	

Note: Previously, 71.101(c) was broken out separately in the current submission because it is the primary requirement to submit QA program for approval.

Table 2. Ann	ual Recordkeepin	g Burden 2016-20	018 (CURRENT R	EQUEST)				BURDEN CHANGE			
Section	No. of Recordkeepers	Annual Hrs. Per Recordkeeper	Total Annual Recordkeeping Hrs.	Cost @ \$268/hr	No. of Recordkeepers	Annual Hrs. Per Recordkeeper	Total Annual Recordkeeping Hrs.	No. of Recordkeepers	Annual Hrs. Per Recordkeeper	Total Annual Recordkeeping Hrs.	
71.19(a)(3)	0	0	0	\$0	0	0	0	0	0	0	
71.85(c)		Included i	n 71.91(d)		In	cluded in 71.91(	d)	Included in 71.91(d)			
71.87(e) & (f)	0	0	0	\$0	0	0	0	0	0	0	
71.91(a)	200	20	4000	\$1,072,000	250	20	5,000	(50)	0	(1,000	
71.91(b) & (c)	30	18.5	555	\$148,740	30	18.5	555	0	0	0	
71.91(d)	200	0.5	100	\$26,800	250	1	125	(50)	0	(25	
71.95(a)(1)	No re	cordkeeping requir	ements (included	on reporting table)	0	40	8	(0)	(40)	(8)	
71.95(a)(2)	No re	cordkeeping requir	rements (included	on reporting table)	1	10	10	(1)	(10)	(10	
71.97(c)(4), (e) & (f)	В	urden eevered un	der Section 71.91(	4/	Durdon oou	arad undar Castis	n 71 01/d)*	Burden covered under Section 71.91(d)			
71.101-71.137	В	uruen covereu un	Jei Section /1.91(i	1)	Burden cove	ered under Section	)II /1.91(u)"				
TOTAL	250		4,655	\$1,247,540	250		5,698.0	0		(1,043	

\*Note that a typo in the 2013 submission inadvertantly attributed this burden to 71.97 rather than 71.91



Table 3	Table 3. Annual Third Party Disclosure Burden 2016 - 2018 (CURRENT REQUEST)								Annual Third Party Disclosure Burden in ROCIS 2013-2015					BURDEN CHANGE				
Section		Response per Respondent		Burden Hrs per Response	Total Annual Reporting Burden (Hrs)	Cost @ \$268/hr	No. of Respondents	Response per Respondent	Total No. of Responses		Total Annual Reporting Burden (Hrs)		Response per Respondent		Burden Hrs per Response	Total Annual Reporting Burden (Hrs)		
71.19(a), (b), & (c)	Included in 71.85						Included in 71.85				Included in 71.85							
71.22(d)	Burden covered under Section 71.85(c)						Burden covered under Section 71.85(c)				Burden covered under Section 71.85(c)							
71.23(d)	Burden covered under Section 71.85(c)							Burden covered under Section 71.85(c)				Burden covered under Section 71.85(c)						
71.47(c)		Burden covered under Section 71.31						Burden covered under Section 71.31				Burden covered under Section 71.31						
71.85(c)	25	5 4	100	1	100	\$26,800		6.7	100.0	_	100	10	(2.7)	0	0	0		
71.87	25	1	25	1	25	\$6,700	Ddo. a a a a a a	Previously inclu	ided on the reco	rdkeeping table	NAD Classes	25	1	25	1	25		
71.89	Burden covered under under Department of Transportation's OMB Clearance No. 2137-0150						No. 2137-0150				Burden covered under under Department of Transportation's OMB Clearance							
71.97(a), (b), (c), (d), (e) & (f)	7	1	7	0.9	6.3	\$1,688	1	1	1	0.9	1	7	1	7	0.9	6.3		
71.129(a)	C	0	0	0	0	\$0		Previously incli	ided on the reco	rdkeeping table		(	0	0	C	0		
TOTAL			132		131.3	\$35,188			101		101			32		31.3		

	TOTALS FOR F	PART 71 RENEW	AL (2015-2017)	TOTAL FOR PART	T 71 (2013-2015)	BURDEN CHANGE		
	Responses	Burden	Cost at \$268/hr	Responses	Burden	Responses	Burden	
Reporting	278.1	20807.6	\$5,576,437	592	52282.9	(314.2)	(31,475.3)	
Recordkeeping	250	4,655.0	\$1,247,540	250	5,698.0	0.0	(1,043.0)	
Third Party Disclosure	132	131.3	\$35,188	101	100.9	31.0	30.4	
TOTAL	660.1	25593.9	\$6,859,165	943.3	58081.8	(283.2)	(32,487.9)	

Licensee storage costs \$ 499

NRC staff time \$ 4,341,600 NRC report processing \$ 904,500 TOTAL costs to Fed gov't \$ 5,246,100